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2N A4
H: JNAZENL(FELNGMNL/NSLEZAl)

©el XN (29 a8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fal=n. 33,934,792 27,239,608 6,695,184
Xl 4,832,000
< 2,456,000
Al 26,646,792
NAZEMNL(RELRNGNL/XNAL T Al 3,594,151 4,765,751 A 1,171,600
< 515,000
Al 3,079,151
Ao 3,581,151 4,765,751 A 1,184,600
< 515,000
Al 3,066,151
FU=JAMY 2,551,151 2,545,751 5,400
201 et 9,600 9,100 500
01 At 22l 2,000 2,000 0
OSHE FURZAY S8 2L (RFUH
X0, =Z2H EH) 2,000,000& = 14l 2,000
02 23=24gHl 7,600 7,100 500
OZJ =Zc| =82 HOZ2Y #1230t
ES,09R+TAL, STEXALE)
300,000& = 12& 3,600
O3J] =Zc| =8dZ Hits E=FX M
== 1,000,000& * 14 1,000
OADtE, sz EE21 A&
1,500,000& * 14 1,500
O+ HY-BFDACTR HC2X AER
1,500,000& * 14 1,500
203 YR =&l 900 1,000 A 100
03 AIMF=XH R =AY 900 1,000 A 100
OFQU=2AAY 42 =& 900,0008 * 14l 900
305 a2 S 651 651 0
01 tiaf=S 651 651 0
ORY0IS2(AMEE) As(WPALHE o=
A& 20090t 6837) 651,000& * 14 651
401 Al HIZ 2 048I 2,490,000 2,455,000 35,000
01 A& HI 2,475,294 2,439,430 35,864
OZ4 -3 W2 T2H4A
800,000& * 1,000m * 99.28/100 794,240
OfOt=a & CCTv £ X 500,000& * 400 2 20,000
OAnE FR=JAY 1,291,054
—SZ & ZESA
200,000& * 350m = 3JHA = 99.28/100 208,488
— YR & ZHEIA
600,000& * 500m = 2JHA = 99.37/100 596,220
— =2 EX & B3 A
200,000& * 300m = 4JHA = 99.28/100 238,272




2N A4

& NEDENL(2ELNYMNL/NISL A
Chel s XISoHe (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—GCE2XXSAM
200,000& = 300m * 3J4 4 = 99.28/100 178,704
— &AM S A
2,500,000 = 14m = 2J04 = 99.10/100 69,370
OZYE AYE DY HALHES
50,000,000& =« 14 50,000
OB40 SH-IEE QARA T2 2T
SA JI2EHES 50,000,000& * 14 50,000
OALn=2 =2UXNGEAE  6,000,0008 * 2500 & 150,000
OZZH &ZIMEA 30,000,000& * 14 30,000
O=4HOIEd & =89 AdsX 2l
2,000,000& * 5= 10,000
O&ds 302 Y2 dgHE(FL
Z 0 0l &) 30,000,000& * 14 30,000
Odeds 2H2MELES &2 1 H (=g
E 0 0l &) 20,000,000& = 14 20,000
Ox=gs AFLIFZAL & LA X (FLEH
AF) 30,000,000& * 14 30,000
03 Al =2 0HHI 14,706 15,570 A 864
OF= Hg~st3u2t T2H4d
800,000& * 1,000m * 0.72/100 5,760
OL72 =USFAAY 8,946
— =2 & - ZASA
200,000 = 350m * 34 = 0.72/100 1,512
—dUZ B ZEBA
600,000& * 500m * 2J§4 = 0.63/100 3,780
—HARAR QL BEBA
200,000& * 300m * 4J44 = 0.72/100 1,728
—EZ2EEIAM
200,000& * 300m * 34 = 0.72/100 1,296
— 2 HIH A S A
2,500,0002 * 14m = 2JHZA = 0.9/100 630
402 RIZEX20l A 50,000 80,000 A 30,000
01 AT AL S E (R ) 50,000 80,000 A30,000
ONtS3 2 B4 (2X8 H)
50,000,000& * 14l 50,000
(Z)EAHANEER X 22 10,000 10,000 0
< 5,000
Al 5,000
401 Al HIL 2 THY| 10,000 10,000 0
< 5,000
Al 5,000
01 A& HI 10,000 10,000 0
OZHANEE sAZel(=&,0t, )
10,000,000& * 14 10,000
< 5,000
Al 5,000
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B ARENL(RELX AW/ NAL G Al
el Xl H e (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
(D) ESF=ASIIALY 1,020,000 2,210,000 21,190,000
< 510,000
Al 510,000
401 Al Bl 28I 820,000 2,210,000 A 1,390,000
< 410,000
Al 410,000
01 A& Bl 812,584 2,188,346 A 1,375,762
OHHatH 23132 OS82 FUHEZESA
1,000,000 * 40m * 98.92/100 39,568
< 20,000
Al 19,568
OSME S22 =222
2,000,000& * 20m * 98.92/100 39,568
< 20,000
Al 19,568
ORMB 2812 SPNUSEHLHL+Z LR
S A 150,0002 * 400m * 99.10/100 59,460
< 30,000
Al 29,460
O=&d Mgl WXZ =2 HHI S A
400,000& = 200m * 99.10/100 79,280
= 40,000
Al 39,280
O=E0 clgiel SEAN2 HE L S2EF
3 At 500,000& * 200m * 99.10/100 99,100
< 50,000
Al 49,100
O1Z2% NAY SSEE L 4212 A
200,000& * 150m * 98.92/100 29,676
< 15,000
Al 14,676
Ol 0122 OISAATH A2
100,000 * 600m * 99.10/100 59,460
< 30,000
Al 29,460
OZJIg agiel o2 NAZEHFBA
150,000 * 200m * 98.92/100 29,676
< 15,000
Al 14,676
OBl S2el ENHEHY SREFTA
1,000,0002 * 140m * 99.28/100 138,992
< 70,000
Al 68,992
OZ=+H S232 EFM sSZTEHEIA
200,000& * 100m * 98.92/100 19,784
< 10,000
Al 9,784
O=S8H UEL s ZHSA
200,000& * 300m * 99.10/100 59,460
< 30,000
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& NEDENL(2ELNYMNL/NISL A
Srel XN )
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 29,460
O 222 228 2 Hi==3HISA
250,000& * 400m * 99.10/100 99,100
< 50,000
Al 49,100
o2« Hzel =22 s2ZF3AM
300,000& * 200m * 99.10/10 59,460
= 30,000
Al 29,460
03 Al 2 THHI 7,416 AN 14,238
Othatd R332 OS2 FUHEXZESA
1,000,000 * 40m * 1.08/100 432
OthdtH &hx312] s2ES ALY
2,000,0002 * 20m * 1.08/100 432
OR4H Ad12 2PN ZZ3 Y24
=N 150,000& * 400m * 0.90/100 540
Oxz=H Auiel uxz =234l S Al
400,000 = 200m * 0.90/100 720
O&=&Y 98 dEMe2 ME ¥ s22F
3 At 500,000 = 200m * 0.90/100 900
OJE28 NI sZ2ZZE 2 28X 3A
00,000 = 150m * 1.08/100 324
OZJIS 0l3el s EF FM2T]
100,000& * 600m * 0.90/100 540
OZJlg ttgel o= &O‘:Iii*’g%/&
150,000& * 200m = 1.08/10 324
OBIlg S22 BNUHY T2EFIA
1,000,000 * 140m * 0.72/100 1,008
OZ=+H 5232 EFAM SZTEHEIA
200,000 = 100m = 1.08/100 216
Os8d e sZ2ZE3A
200,000 = 300m * 0.90/100 540
OZEsd 222 sZ2ZF 2 =2 HUI3A
250,000 = 400m * 0.90/100 900
OF=H% ZH2el 3292 s EZEIA
300,000& = 200m * 0.90/ 540
402 RI2HX=0| M 200,000 200,000
< 100,000
Al 100,000
02 QI EASEZ (OIS ) 200,000 200,000
O2Jls 232 s xs
200,000,000& * 14 200,000
< 100,000
Al 100,000
LEHE ALY 13,000 13,000
T AP 22| 13,000 13,000
201 et 13,000 13,000




SN A
& NEDENL(2ELNYMNL/NISL A
E: LEEEAY (&)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
01 At 22l 3,000 0 3,000
OZES MY JIEH AIRSEH(EE8E, ZHHZ)
3,000,000& =« 14 3,000
03 A2 | 10,000 0 10,000
OZ22 SHUSHZALANY ANZZ2E2AT
“&3 2 HAZHI 10,000,000& * 14 10,000
CZ2 N2 (+ELLNE/ER) 12,286,496 7,264,660 5,021,836
< 1,625,000
Al 10,661,496
N & SHEEZ AY 11,599,068 6,796,681 4,802,387
= 1,625,000
Al 9,974,068
EZ2FH| 4,104,660 2,161,400 1,943,260
201 Let249] 4,060 6,400 A2,340
01 At 22l 4,060 6,400 A 2,340
OEzAEZ YDA 200& = 5,0000H 1,000
OEE &9 MA(Hodsa, HE2HIE,
NNot=u=s ) 60,000& = 201 = 63l 720
O2&8os 2,340
—fI¥E A 70,000 * 6Y = 33 1,260
— A& A=E 30,000& * 6Y = 33 540
— I EHEA MY 90,000& = 2H « 33| 540
401 Al HIZ 201 I 4,100,600 2,155,000 1,945,600
01 A& HI 4,091,626 2,147,926 1,943,700
Ozl T2HY D= EX 4] 99,100
— EXI0Hdl
2,000,000 * 50m * 99.10/100 99,100
O2=23(OIS-4Y) C2HTIBA 450,000
~EX 2 NS S 0yl
450,000,000& = 14 450,000
O0l& MEE| ~ IS2E2(2Z108)E2HEES
At 300,000
— EXI0HL I 60,000& = 5,000m 300,000
Ottt AIE~RARAEZ(ZE3S8) EEZESAM 150,000
— EXIHS I 50,000& = 3,000m 150,000
Ottt DI T2 (2 E38) HEZEIAM 24,000
— EXI0HS I 30,000& = 800m 24,000
OZ+ 42 AFE2(PE3&5H) HEZIAM 397,120
— A& H| 2,000,000% * 200m * 99.28/100 397,120
OLREcEE2(2E55) HEYESAM(AL) 400,000
— EXI0H 2yl 50,000& = 8,000m 400,000
OXLRW(XNYE9315) MAMS A 500,000
— EXI0Hdl 50,000& = 10,000m" 500,000




SN HED
=S

g ; Sl (+8Xns/c2)
82 AN & SHEZZ ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSSN~ EZ SZHIA 259,100
— EXI0HSHI 80,000& = 2,000m’ 160,000
— A&l 100,000,000 * 99.10/100 99,100
OBS~HE2TZ2(2E83) HEEIAM 400,000
— EXIHLHI 50,000& = 8,000 400,000
O+ 843 ZU4HA-AYER(REI5) &
EEZ3AM 50,000
— EXI 04 S Hl 50,000& = 1,000m’ 50,000
OO0l&F MEZN(Z2E108) BL A 50,000
— & AIE A 50,000,000& = 14 50,000
Oz s~ T2(2E168) HEZES
At 40,000
— ALAIE I 40,000,00021 * 14} 40,000
O+ SHIUNR-BLDEFTRAN C2HE
NS At 148,920
— A&l 1,000,000 * 150m * 99.28/100 148,920
ORM JRAFTHCZ (2T 158) S IMB S A 79,280
— A&l 800,000& * 100m * 99.10/100 79,280
OZJ 3 T2(2&173) HEEZEIAM 150,000
— & Al E A 20,000,000& * 14 20,000
— EXI04 S Hl 65,000& = 2,000m’ 130,000
Oty HATA F~HFE2H(ZE33) 2=
X SAH(A ) 10,000
— & Al E AHI 10,000,000& * 14 10,000
Oz tHEe(Z2E178) &8 XX S M 200,000
— A& HI 1,000,000& * 200m 200,000
OFds(E7Hl) NYE 9355 HEHIMBSA 40,000
— & AIZ A HI 40,000,000& * 14 40,000
OBl is-SHLNE NEHER X2 A
160,000 * 1,300m * 99.28/100 206,503
O2J18 & (HZ10284) 57 SHSA
4,620,000& * 30m = 99.28/100 137,603
03 A& SR THHI 8,974 7,074 1,900
Ozl E2HY 0I=2EX 24|
2,000,0002 * 50m * 0.90/100 900
OR+ HZ-OHCR(FEISH) HEITA
2,000,000% * 200m * 0.72/100 2,880
OFSHIYHIN~-BEZ SZHIA
100,000,000 * 0.90/100 900
OZ+ FHIHS-BLDEFTSRAL 2
JHE S A 1,000,000 * 150m * 0.72/100 1,080
OR4 JRAFHCZ (2L 158) ML S A
800,000 = 100m * 0.90/100 720
OZclE e ~-FHUINZ A ANEZ X2 A
1,497,000& * 14 1,497




SN HED
=)

g ; Sl (+8Xns/c2)
22 A ¥ SHEZZ MY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3Jls HEEe(HZ10284) 57 SHIA
997,000& * 14 997
2 RAEF 3,552,408 3,143,281 409,127
101 @14 Hl 12,423 11,578 845
04 JIZHHZ2XNHEE S 12,423 11,578 845
OLsSEXZAt 212
51,7603 * 3% * 22 * 4004 12,423
201 Let249] 559,025 571,731 A12,706
01 At 22l 9,240 7,800 1,440
O&AHE T ANZLYHI 2,040
~HFEM U HEAARXE
50,000& = 12& 600
— A& XM EIOHE 20,0003 = 5& = 12& 1,200
—HEYHAFE 20,000& = 1& ~ 128 240
ON&ZY =&l 7,200
— = gl 6,000& * 249H = 241 » 25 7,200
02 =224l 549,785 563,931 AN 14,146
O&IIANEZ 406,512
—J2S 6,000& * 2,200 ~ 12& 158,400
— Eots 6,000& = 3,000 » 12& 216,000
—JIZ2S HOOHAIAH SARB
4,000 * 14424 = 128 6,912
~gFD ZBS L HE2S HIIRS
300,000& = 12& 3,600
—XNotxe z8s &IIRs
1,000,000& * 12& 12,000
—stEN HH+=BEZE 2FH2ANE HIIR=S
300,000& = 12& 3,600
—sS8XotHE HEANE L=
200,000& = 12& 2,400
—AIEFXoHE SFHAANE HIIL=
300,000&  12& 3,600
OH&EED MEZ 6,120
—dIIABE 100,000& » 204 « 12& 2,400
— Aot 2 (&0, wetd|)
90,000& = 12& 1,080
— &3t F4 60,000& = 43| 240
— 2034l AR 200,000& = 12& 2,400
OL2E 3 UIl4 eyl 1,400
— S50 1,200& = 104 = 100 1,200
— S Xl 200,000& = 14 200
Oz el &dl |l 11,419
— H&Dl 80,000,000& * 3CH = 2/100 4,800
— 2 EI)| =2l 1,000,000& = 3CH 3,000
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SN HED
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X{ XH -
S =

22 A 2 sHE
SA BB O () - MM - HES 0l &+ o4 il
— S22 &Y| 250,000& = 73 1,750
— ASDI 30,000,000& * 1CH = 2/100 600
— g4I 88
1,410& = 104 = 30€ » 304 1,269
O3 KAl 21,826
— = 41(02L49213, 0.8m", 50| &) 18,000
- 7SO 1,200& x 104 * 5AI2F x 150 9,000
- =2/l 5,000,000& = 14 5,000
- EFOIO{ 2 Al 500,000& * 8 = 13| 4,000
—ASEH(HEIINHA0.7E) 926
sSH 1,210 *= 20 * 6Al2F » 50 726
=2/l 4,000,000& = 1CH = 5/100 200
— W (ESA) 808
&0 11,4103 *= 20 = 6Al2F = 30 508
- =2/l 300,000& = 1CH 300
— O DI (A=A 2,092
=50
1,410& = 14 = BAI2E = 50 = 40H 1,692
=2l bl 100,000& * 404 400
OM&E®gY Y T2ES SAE RHI| 2| 4,760
— 2=F 4yl 100,000& = 1404 1,400
—sHes3 20,0003 * 1494 = 12043 3,360
OHIZEY Xt¥ Sl 41,848
— S50
1,2008 » 132 = 6AI2F = 90 » 20 16,848
— =cltl 2,000,000& = 2CH 4,000
— EtOI{ L Al 500,000& = 1000 = 2CH 10,000
—ALE2EO0A 550,000& * 1090 = 2CH 11,000
OFAXE Sl 45,700
- =50 1,200& = 2002 * 50km * 2.50 30,000
— =2ltl 2,000,000& « 1CH 2,000
— EFOIO{ W Al 500,000& * 44  1CH 2,000
—ALE2E0A 550,000 * 44 = 1CH 2,200
—E824 350,000& = 104 3,500
— A0l EE 21 4 150,000& = 4004 6,000
OL2 RANE+E IHEFAH 8,000
—Z3&ZS ¥ AW Fdl 2,000,000& = 404 8,000
Oovd T2z |RFU 100,000& * 12& 1,200
O=RRML MBE(SEBEZ, 5ER)
1,000,000& * 14| 1,000
206 M= Hl 235,460 235,460
01 =8l 235,460 235,460
OE2ES8 Mz FY 117,000
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L= B

el

Y. B (3H) - HEAY - BES o A o SSa H RS2
— Eol= 15,000& = 1,000% 15,000
— BH £=2 (1000~600mm) 120,000& * 1002 12,000
— Bl 8EAIPPIE CH 250& * 40,000& 10,000
—d3ls 250,000& * 200 50,000
-3 150,000& * 200& 30,000
Oxzg21g2E2s+8 HEgE 7 7Y 13,320
-t S 93 20,000& * 9& = 1000 * 23] 3,600
— BFAFZ (1,000mm) 300,000 = 2004 6,000
— & A2 700& * 2000 ~ 12&€ = 159 2,520
—C28x82 UM 100,000& = 12& 1,200
OEXIE H™& 17,100
— Bl8EALE X 2t 70,000& = 30H 2,100
— A EX = 200,000& = 5004 10,000
— 2H0H D &® X| &2 100,000& * 5074 5,000
ONsEXNE M2 5 2 18,240
— HoE 12,000& * 20000 * 74 16,800
— Sl 1,200& = 20000 A& = 6kg 1,440
Ong L2t &= 70,0008 * 5 + 54 & 1,750
Oz 232E+8 &AM 2 20,050
—d 0 2 60,000& * 130m’ 7,800
—-0Fr A& 2 50,000& =* 200= 10,000
— Al ol E 4,000& * 300% 1,200
—E22EH 35,000& * 302 1,050
OCEHHE=E MEJ(Jd0Id) &Y ! 48,000
— &y 400,000& = 1204 48,000
302 01 =L T3 12 & 2 65,200 67,268 A2,068
02 QIO THOHL E PR ESE M= 65,200 67,268 N 2,068
OM&E&EE S3AX =4 9,000
=] 6,000& * 100 = 15¢! 9,000
OM&E=Y SIAFEHI(MED) SFU
1,200& = 120CH = 10 * 304 43,200
OM&xg EdH EE It 13,000
== 100,000& * 130CH 13,000
305 & 2 S 1,000 1,000 0
01 HiMd=SS 1,000 1,000 0
ORHoIS2S(AIE22) NS(HWFRALHRAEX]
212009L+3935) 1,000,000& = 14 1,000
401 Al Bl 20 HI 2,679,300 2,196,244 483,056
01 A& HI 2,479,512 1,987,788 491,724
ONE L SHEZZ AH BEZA
500,000& * 300m * 99.28/100 148,920
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X ZH -
L= B

el

5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
OANE & =s0HEEZZ &7 FUISA
500,000& * 300m * 99.28/100 148,920
OF4+0 SHIIU2-LURILN C2(2E16
S) NS A 625,000 * 80m * 98.92/100 49,460
OF=H BHAEDIA Y2 SH WS A
8,000,0002 * 10m * 99.10/100 79,280
OFZ+H B2 SEMH(ANZ163) B3 At
400,000& = 100m * 98.92/100 39,568
OHMH DS 2 (AE33) MHEEST A
400,000& = 500m * 99.28/100 198,560
OFZES 2 1A M =2 ZFHISA
200,000& * 300m * 99.10/100 59,460
Omse 2H12 2N HHBA
4,000,000& = 10m 40,000
OO0l S (HZ1018) SRS A
500,000& * 100m 50,000
Ootd ¥ EMel(Z=38) =R SA
500,000& * 140m 70,000
OAIJIX ZHIN LIS At
1,000,0002 * 400a * 99.28/100 397,120
ONSHEAE wiH & E=
80,000,000& =« 14 80,000
OANEY Hanzg ZLFHES 70,000
— Al &4l 10,000,000& * 7JH 2 70,000
OSZ¥eIUy neg L3 29 60,000
— Al &4l 4,000,000& = 1500 4 60,000
O'1ed WHHLEFZZN W B3 At 357,408
— Al &4l
120,000,000 * 3JH 4 * 99.28/100 357,408
Oung B22ZAIIEZNZ2 S) 218,416
— Al&Hl 55,000,000 * 4JHA = 99.28/100 218,416
Ozt & sHEZ=Z g5y &M 30,000
— A&l 100,000& * 300m 30,000
O=% & sHEZ2 (L XE 4X 40,000
— A&l 800,000& 500 & 40,000
OJE dZAl L AIJHA &2 EXE Zl(Al
B AEOIE 01N S) 99,100
— Al&Hl  5,000,000& * 20JHZA * 99.10/100 99,100
o=t ¥ sHEZzZ T2EXE EHy| 30,000
— A&l 5,000,000& * 6IH A 30,000
ORSAES &7 dX(SHE=M . HEXE
AdRMesE S22l 83U, PELRESSE) 50,000
— Al &4 50,000,000& = 14 50,000
OANE &L sHEZZ HFAES HUl(LSA
0 A5) 30,000
— A&l 30,000,000& * 1JH 2 30,000




SN HED
=S

M T2 A2 (5L NE/EZ)
Sl ANE ¥ SHEEE ALY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odg=otxies A22(BE & =52H) 12,700
—=3E2HEE 2 10,000,000& * 1CH 10,000
—=ZR2HEDZ 2| 1,000,000 * 2CH 2,000
— HIIAIE (B & et) 700,000& = 14 700
OS8XoAE A& (B L =Z2H) 1,900
— B % =F2H 700,000& = 20H 1,400
— HIIAIE (B & e 500,000& * 14 500
OE+HEE SA22(BE & =52H) 3,700
—gZ ¥ =324 1,000,000& * 3CH 3,000
— MIIAIE (B & e) 700,000& * 14 700
Oz22gFHg UL (HSR)
500,000& = 10CH = 102 50,000
OMAHSSED HHIYR(HE2)
500,000& = 10CH = 102 50,000
Oousles =72AM 2E52Eel X
10,000,000 *14] 10,000
OAHELXMHED TS A 5,000
—JIH & HIANEE A2
5,000,000& = 14 5,000
03 AIE 2 THHI 199,788 208,456 N 8,668
OANE & SHEZZ AtH E3 At
500,000& * 300m * 0.72/100 1,080
OMNE & SHEZZ 537 FUHISA
500,000 = 300m * 0.72/100 1,080
OR+0 SHIXNR- AW} T2(2516
S) HESBA 625,000 = 80m * 1.08/100 540
OF=H BHAEDIA AL SH WS A
8,000,000 * 10m * 0.90/100 720
OFZs+H B2 SEMH(ANZ163) B3 At
400,000 = 100m = 1.08/100 432
OQHAH DAEZT2(AE3S) AAHE ST AL
400,000 = 500m * 0.72/100 1,440
OFXE 2 1A AMS B2 HHISA
200,000 = 300m * 0.90/100 540
OAIJX ZHIN LIS M
1,000,000 * 400a * 0.72/100 2,880
O'fed LI ZZW g B3 A
120,000,000 * 3JH4 = 0.72/100 2,592
Oug B22ZAIIEZNZ2 E)
5,000,000 * 4714 = 0.72/100 1,584
OJE dZAl L AN &2 EXE Zl(Al
A AEHOIE 018 S)
5,000,000 * 20084 = 0.90/100 900
ON&&HE ZH &It 186,000
—Wse 500,000& = 601 » 30 90,000
—gz 400,000& * 204 » 120 96,000




SN HED
=)

X{ XH -
S =

22 A 2 sHE
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
(E)X ST Z ALY 2,450,000 210,000 2,240,000
< 1,225,000
Al 1,225,000
401 Al Bl 28I 1,450,000 210,000 1,240,000
< 725,000
Al 725,000
01 A& Bl 1,443,520 208,488 1,235,032
OO04tH plgte| 2EA WEIHA
350,000,000& = 14l * 99.28/100 347,480
< 175,000
Al 172,480
O&AA N (HTZ1025 ) MM S A
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X 70,000
Al 30,000
403 XA SA=0l& 100,000 0 100,000
X 70,000
Al 30,000
02 S 2S0CHE A =& OHE At H 100,000 0 100,000
OUAYAA SEUS SEHMHLAY
100,000,000& * 14l 100,000
Xl 70,000
Al 30,000
()03 (Z2HE)(SE12)-AGF SN 170,000 150,000 20,000
Xl 119,000
Al 51,000
403 Mt SHHSA=0l& 170,000 150,000 20,000
X 119,000
Al 51,000
02 I 2S0CHet A== OH & At H 170,000 150,000 20,000
OStE12l OIS Sl (R MEL) AL
170,000,000& * 14 170,000
Xl 119,000
Al 51,000
(Z)otSHA=F (Z2HH)(eE12)-AgFG L35 30,000 0 30,000
X 21,000
Al 9,000
403 A X EHHSH20IA 30,000 0 30,000
Xl 21,000
Al 9,000
02 I 2S0ICHet A= OH & A H 30,000 0 30,000
OHE1el OS2 (ZZMEN)ALS
30,000,000& * 14 30,000
Xl 21,000
Al 9,000
(2)0rSTHol 82 (FRAE) (0r2)-XI A2 B A 59,000 0 59,000
Xl 41,000
Al 18,000
403 Ut S S X201 & 59,000 0 59,000
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EXN: A4
B SENY(SEHLLL/ 5D - 5E)
gel: sEF I (el &)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 41,000
Al 18,000
02 BI2SOHUSA=2EUSEASE Y 59,000 0 59,000
OO0tz OISR (Z2MEN) ALY
59,000,000 * 14l 59,000
N 41,000
Al 18,000
(2)0ISSHASF (Z2AMEN) (0L ) - FH 225 50,000 0 50,000
Xl 35,000
Al 15,000
403 XX SHHS K20 & 50,000 0 50,000
Xl 35,000
Al 15,000
02 BI2SOHUSASEUSEAE Y 50,000 0 50,000
OO0tz OIS (Z2MEN)ALS
50,000,000 = 14! 50,000
Xl 35,000
Al 15,000
(2)0ISHASZ (Z2AMEN)(BHE|)-RFZ 2 60,000 0 60,000
Xl 42,000
Al 18,000
403 XX SHHS K20 & 60,000 0 60,000
Xl 42,000
Al 18,000
02 BSOS EUEAISE Y 60,000 0 60,000
Otz DISS (Z2MER)ALS
60,000,000 * 14! 60,000
Xl 42,000
Al 18,000
(2)0ISHASH (Z2AMEN)(BHE 2| )-K I 225 50,000 0 50,000
Xl 35,000
Al 15,000
403 XX SHHS K201 & 50,000 0 50,000
Xl 35,000
Al 15,000
02 BI2SOHUSXA2E S AFEHI 50,000 0 50,000
Ozl DISHA(Z2MER) ALY
50,000,000 * 14! 50,000
Xl 35,000
Al 15,000
HAHSHAY| (AL D) (IIEH/DIIEH 790,204 766, 135 24,069
= 46,000
Al 744,204
ol 2HH| 671,348 644,479 26,869
= 46,000
Al 625,348
oled A | 419,348 462,199 N42,851
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SN A
M. HMSAAH (AL W) (IIEH/IIE
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
101 2121 4| 419,348 462,199 N42,851
03 2IAHAZZ2XHE %= 419,348 462,199 N42,851
Oxzdoga 419,348
— &2 1,427 ,610& = 100% * 43 = 15H 85,657
—A2Y 1,427,610 % 50% * 28] » 15H 21,415
— 9 ZE S|
1,427 ,610& » 75% = 23|  15H 32,122
—ItEs4 12,240
bl < Xt 40,0008 = 13¥ = 128 6,240
JIEt 20,0008 * 259 * 12& 6,000
—AZ2t224
19,380& * 15A12F » 15 = 12& 52,326
— 524222 155,040& * 302 * 15Y 69,768
— &AEALE 60,000& » 15 = 12& 10,800
— RS EIIY
103,360& * 212 * 159H 32,559
— g4 50,000& = 15 * 12& 9,000
— MG 50,000 = 15 * 12& 9,000
— HtE G 100,000& = 1¥ * 128 1,200
— X&EG 50,0008 = 3H x 12& 1,800
— I AH| 130,000& = 15 » 12& 23,400
— WEEXH| 100,000& * 15% = 12& 18,000
—JHEXZ 110,000& = 159 » 12& 19,800
— ANESH XS 1,196
LSS 298,800& * 1Y = 43| 1,196
— d&XAE 100,000& = 15 * 13 1,500
— 2AX S| 50,000& = 159 = 23| 1,500
— 0 sd ¢ JlEt 16,065
A= 100,000& * 15Y 1,500
gtets 100,000& * 15%Y 1,500
OFM )| 20,000 » 1€ = 15H 300
2 9 30,000& = 14 » 15Y 450
ESgesgel 50,000& = 1= » 15Y 750
PR ) 15,000& » 1= » 15Y 225
- 2HANH| 3,000& * 15Y * 21 * 128 11,340
(S)Xe422 olAY| 252,000 182,280 69,720
== 46,000
Al 206,000
101 2124 d| 252,000 182,280 69,720
= 46,000
Al 206,000
03 2INAHA=2ZZ2XHE %= 252,000 182,280 69,720
Oxg2d o8 252,000,000 = 14 252,000
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2N A&
M HNSHBHI (AL W) (JIEH/IIE
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 46,000
Al 206,000
| 2 2Z&Hl 118,856 121,656 A 2,800
Jl23Hl 118,856 121,656 A 2,800
201 LEr2 Y| 26,516 26,516 0
01 At 22l Yl 26,516 26,516 0
OsAMEX 7 15,000& * 232t A x 12& 4,140
OS20iAdl 6,000& * 64 » 23H * 12& 9,936
Odeteg 100,000& * 12& 1,200
O A7 50,000& = 12& 600
OARE2 =44 9,260
—Z2AP(HEY) %2l 1,000,000 = 1.50CH 1,500
— T2l %2 100,000 * 4CH = 50/100 200
— 2A EUY 200,000& = 53] = 1.504 1,500
— Z2IE (&) E4  200,0008 * 53] * 404 4,000
— D2IE(Zet) EW  200,0008 » 53] « 104 1,000
—PC =2l 100,000 = 23CH = 20/100 460
— JIEF =#=2lH] 50,000& = 12& 600
OJIEF AFR 22l bl 5,000& * 23H x 12& 1,380
202 04| 86,940 86,940 0
01 2LHOHI 86,940 86,940 0
OA&l YR=&X bl 86,940
— 2L o4 B 20,000& * 23Y * 122 * 128 66,240
— 2204 Hl 90,000& = 23¥ * 10 20,700
203 &R =&H| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORANEELERFAH| 350,000&  12& 4,200
204 &2 = F H| 1,200 1,200 0
01 MM R-HAY| 1,200 1,200 0
ONMIALLHAY (AL HE)
100,000& * 1Y = 12& 1,200
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